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SA: eS8 DEYR
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CHol: FRAIM T (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H H &2
Pl In/Y=y=g; 37,648,419 8,837,783 28,810,636
[= 12,000 0 12,000
2 37,636,419 8,837,783 28,798,636
2o I8 - XX - &Y 1,795,372 1,718,372 77,000
[ 12,000 0 12,000
2 1,783,372 1,718,372 65,000
QA Zahate 355, 140 398, 140 A 43,000
Sl ZaR oaQels 29 0 53,000 A53,000
201 LBt2 Y 0 53,000 A53,000
01 At 2t2lH 0 53,000 A53,000
Odoizs4& 2R3 &Y 0 51,000 A51,000
OMRA AQE 9 S 0 2,000 A2,000
ol 2o b AoRAE 29 10,000 0 10,000
201 LBty 10,000 0 10,000
01 AL 22l H 10,000 0 10,000
O FH Ao =g 70,0002 * 10 33 2,100 0 2,100
OFoolA4E S (ARS L= CATI)
7,900,0008 x4l 7,900 0 7,900
2E Mapy 304,582 291,582 13,000
[ 12,000 0 12,000
2 292,582 291,582 1,000
HEAM 23 109,382 79,382 30,000
401 AlEHIZ 2Tl 106,000 76,000 30,000
01 Al&HI 106,000 76,000 30,000
OFIAIM 22 oHHE =8 289 106,000 76,000 30,000
LIAFZ 2 2I0IERIT XY LAY 0 28,500 228,500
401 AlEHIZ =20 0 28,500 A28,500
01 Al&HI 0 28,500 A 28,500
OJl2x4a L AAIgHES 0 28,500 A 28,500
—Jl2raed 0 28,500 A 28,500
BT Y 20 S MAAY 24 0 28,500 A28,500
401 AlEHI 2 =200Y]| 0 28,500 A 28,500
01 Al&HI 0 28,500 A28,500
oNgesaa 0 28,500 A 28,500
—HXgsd 0 14,250 A 14,250
— e (AEE) 0 14,250 A 14,250
HERY300 FYAAY 40,000 0 40,000
[~ 12,000 0 12,000
2 28,000 0 28,000
401 AlAHI 2 200 40,000 0 40,000
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SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
=) 12,000 0 12,000
s 28,000 0 28,000
01 A& HI 40,000 0 40,000
O0ERE300 FLS A 40,000 0 40,000
< 12,000 0 12,000
[ia 28,000 0 28,000
z3EE 948,577 843,577 105,000
=HEE 210 688,000 583,000 105,000
201 et 668,000 583,000 85,000
01 At 2t2ltl 668,000 583,000 85,000
Oger=EH| 399,000 314,000 85,000

— N2, SAAM, Y § 10
10,000, 0003 #2400 At 240,000 200,000 40,000
=TV Z(EHM S) 5,100,000& x4 At*53] 102,000 57,000 45,000
207 Ao EH] 20,000 0 20,000
01 289 20,000 0 20,000
Odgoli~H= i MEHE =A &2t 24 20,000 0 20,000
HEAg 24 40,905 38,905 2,000
daMe 22 XA 33,405 31,405 2,000
303 Z& 3 2,000 0 2,000
01 243 2,000 0 2,000
OFg &3 =8N Al&= 2,000 0 2,000
HE 23 217,864 227,307 A9,443
ME X 206, 164 215,607 A9,443
MHEAAE SXE= 120,697 123,040 A2,343
403 A X EHS K= 0l A 95,311 97,654 A2,343
02 BJI2SHUSUHERAAE AL 95,311 97,654 A2,343
OXHICH NETHE22AAE 2= 95,311 97,654 A2,343
a2 XA 28,466 29,066 A 600
201 L Er2A | 19,466 20,066 A 600
01 At 22l bl 19,466 20,066 A 600
ozdg=¢ 13,766 14,366 A 600
—E0) 2 ZIAE EIY M 0 600 A 600
AE HE 29 13,500 20,000 A 6,500
207 A RO 13,500 20,000 A 6,500
01 A3 39| 13,500 20,000 A 6,500
Odoliz 2¢J|& 34N HIHES 13,500 20,000 A 6,500
ol bl gl 7,428,480 6,810,401 618,079
ol Bl bl 7,428,480 6,810,401 618,079
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SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
([ N=R=]] 7,428,480 6,810,401 618,079
801 ol 8l 7,428,480 6,810,401 618,079
01 EHaildl gl 3,508,897 3,264,011 244,886
Oogetoligltl 3,508,897,000 3,508,897 3,264,011 244,886
02 THal - THH= =0l Hi Y] 3,919,583 3,546,390 373,193
OXHoll - THH= A0l bl b 3,919,583 3,546,390 373,193
HegsOedungg) 28,127,433 2,433 28,125,000
UWeAHNXES(SEMEZESIIZ) 28,125,000 0 28,125,000
HWEAHHNES(MEAFESAHEH) 18,000,000 0 18,000,000
702 JIS8ES 18,000,000 0 18,000,000
01 JI38&E= 18,000,000 0 18,000,000
OSEMIAESIZ(MEUESAE) 8&E2 18,000,000 0 18,000,000
WEHHX=S(SEAHE) 10,125,000 0 10,125,000
705 Ol==&cls4aE 10, 125,000 0 10, 125,000
01 0l==S3&E 10,000,000 0 10,000,000
OLetalA > SEMHHFSIIS(SEANE)
=== & 10,000,000 0 10,000,000
02 Ol === 0l Xt & & 125,000 0 125,000
OLBtsl A > SEMHHFSIIS(SEAHNE)
Ol==3 0l X+ &f & 10,000,000, 000& *1.25% 125,000 0 125,000




